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General Instructions:
» Readthe instructions carefully before answering the guestions.
e Attempt all the questions in each section before going to the next section.
e Allthe answers must be correctly numbered and written neatly.

e For multiple choice questions, option numbers should be clearly specified along with the answers.
e The paper consists of 4 sections:

Section A—Reading : (16 marks) Section B — Writing : (18 marks)
Section C—Grammar : (16 marks)  Section D — Literature : (30 marks)

-------------------------------------------------------------------------------------------------------------------------------------------------

Section — A : READING (16 Marks)
A.1 Read the passage given below and answer the questions that follow: (8)

1. Puppetry is an ancient form of theatre and entertainment practised mostly in rural India. It is, in
fact, a combination of several art forms like sculpture, painting, designing, acting, writing and
music. It is an art which enchants children as well as adults. '

2. Alarge variety of raw materials are used to create puppets. The famous puppets of Rajasthan are
made out of wood and are known as Kathputli. Leather, papier-maché, and stuffed cloth are aiso
frequently used to make puppets.

3. Puppets may be classified according to the material they are made from or the methods of
manipulating them, that is, the means used by the puppeteer to make the puppets move, for
example, hand puppets, string puppets, rod puppets, and shadow theatre. In India, puppets are
regarded as divine and held in reverence by the puppeteer. After they become old and worn out,
they are not discarded but kept at home like ageing relatives. The stories enacted by the puppets

are influenced by the epics- Ramayana and Mahabharata, the Panchtantra stories and glorious
tales of past warriors and heroes.

--------------------------------------------------

.........

4. Theislands of Bali and Sumatra in Indonesia also have a rich tradition of puppetry. Japan is famous
for its puppet theatre called ‘bunraku’ in which majestic dolls almost 150 cm tall are animated
and skillfully manipulated by several puppeteers. '

1. Puppetry is a combination of several art forms like
a. writing, reading, painting.
b. sculpture, learning, music.
€. painting, designing, sculpture.
d. acting, listening, reading.
2. Kathputlis are puppets from

a. Japan b. Rajasthan ¢. Indonesia d. Sumatra
3. InIndia, old, worn-out puppets are
a. Discarded b. neglected c. worshipped d. carefully kept
4. ‘Bunraku’ is a puppet theatre from
a. Japan b. Indonesia c. India d. Bali
5. In ‘bunraku’ puppets may be almost tall.
a. 15cm b. 150 inches €. 150cm  d. 15 feet
- 6. The stories enacted by the puppets are influenced by the
a. tales of warriors b. musicians C. painters d. designers

7. Find a word from the passage (para 3) which is the antonym of ‘disrespect’.

8. Find a word from the passage (para 4) which means the same as ‘magnificent’?
A.2. Read the poem carefully and answer the questions that follow: (8)
' 1. Once there were two magnificent towers,

Where lived and worked so many of ours.

It took seven long years to build them straight

They stood near the Empire State.

2. This event happened on the eleventh of September,

It's an occurrence that generations will remember.

Because thousands of people have died,

Not only of US, but the world’s pride.
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3. Everyone saw with awe and fright,
Twin towers crash in broad daylight.
None guite knows what will happen now,
When ? Where ? And how ?

4. May God give wisdom to those,
Who are devils in gentlemen’s pose.
Now let us all remove hatred and vice,
And let the world be happy and nice.

1. How many years it took to build the towers?

a. seventy b. seventeen c. seven d. seventy seven

Which day in the month of September the Twin Towers were attacked?
a. onthe 1% of September b. on the 11* of September
c. on the tenth of September d. on the ninth of September

3. The pronoun ‘them’ in the third line refers to.....cccvvininnn

a. people b. Empire State Building c. towers d. seven years

4. What can we infer from this line—‘None quite knows what will happen now’?

a. The future appears certain b. No one knows about the twin towers _

c. No one knows about what is to come d. None but we know about what is to come
5. According to the poet, what should we all remove?

a. Hatred and vice b. Happy and nice c. Wisdom  d. Empire State Building
6. Inthe end, the poet wants to see the world..................

a. happyandrich b. happyandhatred c¢. happyandnice d. happyand sad
. Find a word from stanza 3 which means the same as ‘fear.’
. Find a word from stanza 4 which is the antonym of ‘stupidity.’
Section —B : WRITING (18 Marks)

B.1 A Personality Development Camp is being organized in your school for all the students. Write a notice
in about 50 words, requesting the students to take part in the camp in large numbers, giving all the
necessary details. You are Anish/Anusha, the Head Boy/Girl of your school. (5)

B.2 You have been made the Monitor of your class. You are thrilled at being appointed the monitor as
you have been waiting for a long time to become one. Express your feelings in the form of diary
entry in about 100 words. (5)

B.3 Books are the storehouse of knowledge for all the avid readers. Write an article for your school
magazine on ‘The Value of Books’ taking ideas from the hints given below in about 120 words: (8)

HINTS : storehouse of knowledge-best friend to be with- written on various subjects- appeal
to all age groups-best medium to reach larger mass-can be read anywhere and anytime- ideal
way to spend time

M

00

OR
You are Piyush/ Payal, a resident of Mayur Vihar, Bhilai. Write a letter to the Editor of local
newspaper on the issue of lack of a playground in your area in not more than 120 words:
HINTS: Children have no place to play- area surrounded by towering buildings- as a result
they are Watching T.V and play video games - no activity —leading to health problems- building
a central park would solve the problem
Section — C: GRAMMAR (16 Marks)
C.1 Choose the correct preposition from the given options and fill in the blanks. (2)
1. Therider fell.........the camel.
a. from b. of ¢, off d. s
2. We shall be ready ........a few minutes.
a. on b. for € -Ha C.. 1o
C.2 Choose the correct determiners from the given options: (2)
1 coat will do. It doesn’t need to be a raincoat.
a. Any b. No c. few d. Little
2. Forourdinner, we went to ........restaurant.
a. much b. an c. a d. none of these
C.3 Choose the correct option: (2)
1. The boat ...........before the rescue team arrived.
a. will sink b. hassunk c.issinking d. had sunk
2. Everygirl and boy .............. in the class today.
a. ispresent b.arepresent c. have present d. had present
Contd...3
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C4

C5
C.6

C.7

C.8 a) Write an idiom for the following.

Di.

n3n
Pick out correct type of sentence from the given options.
1. We returned home when the sun set.
a. Simple b. compound ¢, complex d. noneofthese
2. The moon rose and everything looked bright.
a. Complex b. Compound . simple d. none of these
Underline the adjectives in the following sentences and state their kinds:
1. These walls need whitewashing.
2. The blind man manages to cross the street.
Change the following sentences into passive voice.
1. Do not open the window.
2. The servant washes our clothes.
Change the following sentences into reported speech.
1. “Did you bring your copy todgy?" asked the teacher.
2. Ramesh said, “Ritu will sing a song ”.

(2)

(2)
(2)
(2)

(1X2=2)
good or pleasant side-effects of an unpleasant situation

b) Write the proverb which means.
The least intelligent people are often the most talkative or noisy.
Section—D : LITERATURE (30Marks)
Read the following extracts and answer the questions that follow.
1. O ! Father and Mother, if buds are nip’d,
And blossoms blown away,
And if the tender plants are strip’d
Of their joy in the springing day,
By sorrow and cares dismay.
a. Whois the poet of this poem ?
b.  Whose parents are being referred to here?
¢.  Who does ‘tender plants’ refer to?

(3x3=9)

2. When | set out for Lyonnesse

D.2

D.3

D.4

D.5

A hundred miles away,
The rime was on the spray;
And starlight lit my lonesomeness
When | set out for Lyonnesse
A hundred miles away.
a. Who does I’ refer to?

b.  What was the weather like when the poet set out for Lyonnesse?
¢.  What do you mean by the word “rime”?

“The only thing that makes you stronger is seeing somebody like you, achieving something huge.
Then you know how much is possible and you reach out further than you ever thought.”
a. Whois the speaker of the above lines?
b. Name the lesson from which the above extract is taken.
¢.  Find out a phrase from the extract which means ‘try to get’
Answer any three of the following questions in about 30-40 words each.

3

a} The oldman offered the speaker a lot of money. Why did he turn down the offer?

b} Bepin Babu lost consciousness at Hudroo falls. What do you think was the reason for this?
¢) What was the story attributed to the Stone Face?

d) Why did the grandmother ask the children not to kill the Chuchundar?
Answer any one of the following questions in about 75 words. ' (5)
How did Jody look after the fawn, after he accepted the responsibility for doing th
OR '
‘How was Ernest different from others in the valley?
Answer any three of the following questions in about 30-40 words each. (2x3=6)
a) Why did King Lear go mad?
b) Why was Brutus unhappy towards the end?
¢) What did the Prince of Arrogan offer to do Claudio?
d) Atthe maskball, what did Don John persuade Claudio to believe?
Answer any one of the following questions in about 75 words. (4)
Write the character sketch of Mark Antony.
OR
Why was Cordelia disowned in the story ‘King Lear’
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General Instructions :
» All questions are compulsory.
»> The question paper consists of 30 questions divided into 4 sections : Section A B, Cand D.

Section A contains 6 questions of 1 mark each.
Section B contains 6 questions of 2 marks each.
‘Section C contains 10 questions of 3 marks each.
Section D contains 8 questions of 4 marks each.

- > Thereis no overall choice. However, internal choice has been provided in two questlons of 1 mark
- each, 2 questions of 2 marks each, 4 questions of 3 marks each and 3 questions of 4 marks each. You
have to attempt only one of the alternatives in all such questions.

> Use of Calculator is not permitted.

01.
02.
03.
04.

05.
06.

07.

08.

09.

10..

11.

12,

13.

~and CO are joined. If £BOC = 120°. Find LAPC.

.........................................................................................................................................................................

SECTION-A ‘ (1X6=6)
Find the area of the floor of a room 6.5 long by 4.6 m broad. | '
Find the volume of a circular cylinder of height 50 cm and having radius of base 7 cm.
Factorise : a(x +y) + b(x + ¥) + c(x + y)
Solve 6x +3=2x+19
OR
7x + 4=4x+25

- Find the area of a square region of side 7.4 dm.

OR -
Find the area of a triangular region whose base = 9.6 m and altitude = 7.5 m.

Find the vélue of x° in the given figure.

SECTION — B (2X6=12)

The sides contamlng the right angle of a right trlangular region are 14.9 m and 12. 6 m. Find the area

of the region. |
AB is a diameter of a circle with centre O. C.and P are
two points on the circle on opposite sides of AB. AP, CP-

A cylindrical water tank is 7 m deep. The radius of the base is 10% m. How many kiloliters of water

can it hold?
-~ OR
Find the cost of digging a well 2 m in radlus and 14 m deep at the rate of ¥4.80 perm3
Find the cube of (x +a) -
- OR
Solve & Factorise x* + 64

~In a circle with centre 0 and radius equal to 13 cm, ABisa chord. OL 1 AB. lf OL=5cm find the

length of chord AB.

_ Find the mean of the following numbers :

50, 60, 20, 35, 47, 80 : : i

| SECTION-C | | | (3X10=30)
ABC is a triangle in a circle with centre 0. AOB is diameter.

If 2B = 50° find £C and £A.

| OR . !
i ABCD is a cyclic quadrilateral: 2B = 82° 4C =106°
What are 24 and a) .

Contd...2
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14.
15,

16.
12.

18.

19.

20.
21,
il

23:
24,

25.

26.

27.

28.

29,

30.

udm

Find the cost of painting the ceiling of a room 18 m long and 14 m wide, at ¥ 1.10 per m?.

Find the total surface area of a closed cylinder with the base radius of 5 cm and height 12 cm.
OR '

The slant height of a conical tent is 12 metres and radius of the base is 7m. How many metres of

canvas 2 metres in width is required for the tent.

Factorise : x% + 12x + 35

Find the value of (101)3

OR
Find the value of (2x + y + 3y)?
4x-3
Solve : e T 3/2
OR

The sum of two numbers is 75. Thrice one number equal twice the other number. Find them.
Using tallies, prepare frequency distribution tables for the following data :-

The number of members of 15 families are :-6, 5,4, 7,5, 4,3,5,3,4,6,7,6,5,4

Find the area of the space enclosed by two concentric circles of radii 9 cm and 5 cm.

Find the area of a rectangle if the length is (2x + 5) units and breadth is (x — 3) units.

The height of 10 students in a class is given below in cm. Find the average height
130, 142, 136, 140, 128, 124, 120, 120, 130, 125, 135
SECTION-D (4X8=32)

Find the area of triangular region whose sides are 7cm, 12cm and 9cm.
A wire in the form of a rectangle 12.8cm long and 9.2cm wide is reshaped and bent into the form of a
circle. Find the radius of the circle.

OR
The length of the minute hand of a wall clock is 10.5m. Find the area swept by the minute hand in 20
minutes.
The radius of a spherical balloon increases from 6cm to 12cm. Compare the surface area of the
balloon in the two cases.

OR
The circumference of the base of a cylinder is 264cm and its height is 25 cm. Find the volume of the
cylinder.
Find the volume and surface area of a ball of diameter 21cm.

AB and:BC are two equal chords of a circle with centre 0. OL L AB is and
OM L BC. OBis joined.
Prove that:- (i) AOLB = AOMB
(ii) BO bisects AABC

OR

AB and CD two chords of a circle cut each other,
when produced outside the circle at P.

AD and BC are joined.

4P = 31° and £BCP = 31°. Find £ADP.

Two circles with centres A and B cut each other at C and D. L is the mid-
point of common chord CD. AL and BL are joined.
What about £ALC and £BLC? Are points A, L and B are collinear?

A father is 20 years older than his son. 12 years ago, the age of the father was six times of his son.
Find their present ages.
Choosing a convenient scale for frequency column, draw histogram for the given data :

Marks | 0-10 | 10-20 | 20-30 30-40 40-50
F 5 12 14 16 8

(CA{C{C:$:9}:9).9]
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There are 31 questions. All questions are compulsory.

»  Question no. 1 to 6 carry 1 mark each.
»  Question no. 7 to 15 carry 2 marks each.
»  Question no. 16 to 27 carry 3 marks each,
»  Question no. 28 to 31 carry 5 marks each,
There are internal choices in some q'uest:’ons of 2 marks, 3 marks and all questions of5 marks.

..........................................................................................................................................................................................

01. What type of plants can fix nitrogen gas of the air into compounds of nitrogen? (1)
02. What is the general name of the elements whose properties are intermediate between those
of metals and non metals? (1)
03. Name the term which is used to express the efficiency of a fuel. (1)
04.  What is the common name of the bulge (or projection) at the front of throat in grown up
boys? (1)
05.  When a plastic pen is rubbed in dry hair, it attracts tiny pieces of paper. Which force is
involved in this process? (1)
06. Why are grooves provided in the soles of shoes? (1)
07. A pendulum makes 20 oscillations in 5 seconds. What is the frequency of the pendulum? (2)
08. Name the part of the eye: (2)
(a) Which controls the amount of light entering the eye.
(b) Which converges light rays to from the image.
(c) On which image is formed..
(d) Which carries the image to brain.
09 (a) Why meteor is called a shooting star? (2)
(b) Write one difference between star and shooting star.
10. How do micro-organisms help in cleaning the environment ? (2)
11.  Explain how, the use of CNG in automobiles has reduced pollution in cities. (2)
12.  State two physical properties on the basis of which metals can be distinguished from
non metals. (2)
OR
12. Give Reason :
(a) Graphite is used for making electrode.
(b) Sodium and potassium stored in kerosene.
13.  Why do tyres of cars wear out gradually? (2)
OR
13.  Itis easier to move the box from rest or to move it when it is already in motion. Explain. Why?
14.  Why is it more necessary for adolescents to take bath regularly (at least once every day)? (2)
15. Aforce of 100N is applied to an object of an area 2m?, Calculate the pressure. (2)
OR
15.  Why do mountaineers usually suffer from nose bleeding at high altitude ?

16 (a) Why do we not hear the screams of bat? : (3)
(b) Name the unit used to measure the loudness of sound.
(c) Name the characteristic of sound which depends on (i) amplitude (i) frequency

17'(a) Why should we not let water collect anywhere in the neighbourhood ? (3)
(b) Name the scientist who discovered fermentation.

OR

17 (a) What is food poisoning? How is food poisoning caused?

(b) Name an antibiotic extracted from fungus (mould).
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18 (a) Why should curd not be kept in iron or aluminium container? (3)

(b) What happens when Sulphur dioxide is dissolved in water? Write a word equation for the
reaction. '

19 (a) Draw labelled diagram of candle flame. , (3)
(b) What is flame?

20 (a) What is blind spot in the eye? ' .' (3)
(b) What are rods and cones in the retina of an eye?
OR

20  What is meant by dispersion of light? Name a natural phenomenon which is caused by the
dispersion of sunlight in the sky.

21 (a) What is meant by chemical effect of electric current ? Explain with the help of an example.
(b) Which metal is electroplated on iron for making 'Cans’ for storing food ? (3)

22.  How does the pressure of a liquid depend on its depth? Explain with the help of diagram. (3)

23, Whatis Puberty? List changes in the body that take place at Puberty. (any two). (3)

OR
23 (a) Who is responsible for the sex of the unborn child : father or mother ? Why?
(b) Name the hormone whose deficiency causes diabetes.

24 (a) Define friction. What is the cause of friction ? (3)
(b) Why rolling friction is less than sliding friction ?

25 {a) Whatis a comet ? Name the comet which was last seen in 1986 after a period of 76 years.
(b) Draw a diagram of Ursa Major constellation to show the position of main stars in it. (3)

26 (a) What will happen if the water in which tadpoles are growing does not contain sufficient
lodine? ' (3)
(b) What is the function of Adrenaline hormone ?

27 (a) Explain why, the tip of a sewing needle is sharp? ) | (3)
(b) What is contact force ? Give two examples.
28 (a) Explain how, noise pollution is harmful to human beings. (Any three) (5)
(b) State the various measures which can be taken to control noise pollution. (Any two)
OR :

28 (a) Describe how sound is produced by the human voice box (larynx).
(b) State two uses of ultrasound.

29. With the help of labelled diagram, describe briefly how an iron key can be electroplated with
copper. (5)
' OR
29 (a) What is meant by electroplating? What is the purpose of electroplating?
(b) Does pure water conduct electricity? If not, what can we do to make it conducting?

30 (a) Draw a labelled diagram ta show the reflection of light from a plane mirror. Label the

following on the diagram : . 45]
(i) Plane mirror (i) Incident ray (iii) Reflected ray
(iv) Normal (v) angle of incidence (vi) angle of reflection
(b) State the laws of reflection. :
OR

30 (a) Define the following : .
(i) Persistence of vision (ii) Lateral inversion
(b) What is night blindness? What causes night blindness ?

31 (a) What is meant by Phases of Moon? What causes phases of Moon ? (5)
(b) What is the difference between Full Moon and New Moon ? (any one)
OR
31 (a) What is an artificial satellite ? Name any two artificial satellite launched by our country.
(b) State three uses of artificial satellite.
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 25.02.2022 ANNUAL EXAMINATION 2021-22 Time : 3 Hrs.
CLASS : VIIi SUBJECT — SOCIAL SCIENCE Max. Marks : 80

.....................................................................................................................................................................

General Instructions:
* There are 31 Questions. All are compulsory.
* Marks of each question are indicated against the question.
* Questions from serial no. 01 to 14 are very short answer questions. Each one carries 01 mark.
* Questions from sl. no. 15 to 26 are short answer questions. Each one carries 03 marks.
* Questions from sl. no. 27 to 30 are long answer questions, which carry 05 marks each.
* Question no. 31 is based on map work, 05 marks from History and 05 marks from Geography.
* Answer the following Questions: (Questions 1 to 14 each, in one word/term/figure only.)

Q.01

Q.02

Q.03
Q.04
Q.05
Q.06
Q.07

Q.08

Q.09
Q.10

Q.11

Q12

Q.13

Q.14

15

Q.16

In which year was a subsidiary alliance imposed on Awadh ? (1)

Who decided that, Bahadur Shah Zafar would be the last Mughal king and after his death none

of his descendants would be recognised as kings — they would just be called princes? (1)
Who partitioned Bengal in 19057? (1)
Against which Act of 1919, did Gandhiji call for a nationwide Satyagraha? (1)
Which Five Year Plan was formulated in 19567 (1)
What are the resources called that are available everywhere? (1)
What are twb important factors that can change substances into resources? (1)

Which energy is found with petroleum deposits and released when crude oil is brought to

the surface? (1)
What is the Electricity obtained from coal called? (1)
What is the average density of population in the whole world per square km? (1)
What term is used for the person who is tried by a court for a crime? (1)
Which institution decides whether an accused person is guilty or not? (1)
Where is the Supreme Court of India located? (1)

According to which Article of our Constitution it is the duty of the government to ensure the
Right to Life? (1)

Why did the wool and silk producers in England protest against the import of Indian textiles in
the early eighteenth century?

| OR
How did the development of cotton industries in Britain affect textile producers in India?  (3)

What was the demand of Rani Lakshmi Bai of Jhansi that was refused by the British?
OR
How did the last Mughal emperor live the last years of his life? (3)
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Q.18

19

il

What economic impact did the First World War have on India? (3)
Name three problems that the newly independent nation of India faced. (3)
Why are human resources important? : (3)

OR
Differentiate between the potential and actual resources.

Q.20 Whatis an ore? Where are the ores of metallic minerals generally located? (1+2=3)
Q.21 Name any three common minerals used by you every day. (3)
Q.22 ‘What is meant by population composition? : (3)
Q.23 Why does a democratic country need a Constitution?
OR
Mention the six Fundamental Rights given in the Indian Constitution. (3)
Q.24 What s the role of judiciary? | (3)
Q.25 What rights are guaranteed to an arrested person under Article 22 of the Constitution and
Criminal Law? (3)
Q.26 Do you think the victim of the Bhopal gas tragedy get justice? Discuss. (3)
Q.27 What are the advantages to foreign companies in setting up production in India? (5)
' OR
What do we mean when we speak of law enforcement? Who is responsible for enforcement?
Why is enforcement so important? (2+2+1=5)
Q.28 Most industries are concentrated around coal mines. Why?
OR
In what five ways can you save energy at home? (5)
Q.29 Why did Gandhiji choose to break the salt law?
OR
Why were people dissatisfied with British rule in the 1870s and 1880s? (5)
Q.30 What was the role of the Planning Commission?
OR
What did Dr Ambedkar mean when he said that, “In politics we will have equahty, and in social
and economic life we will have inequality”? (5)
Q.31 (A) History: On the given outline map of India, locate the following places. (Any 5) (1X5=5)
(a) Amritsar (b) Dandi ~ {c) Bombay
(d) Lucknow (e) Champaran ~(f) Madras

Q.31 (B) Geography: On the given outline map of India name and locate the following. (Any 5)(1X5=5)

(a) The most densely populated state.

(b) An important jute producing state.

(c) The Steel Plant (Public Sector) in Andhra Pradesh.
(d) The Steel Plant (Public Sector) in Chhattisgarh.
(e) The state with the highest literacy rate.

(f) Silicon Valley of India.
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 23.02.2022 ANNUAL EXAMINATION 2021-22 Time : 172 Hrs.

CLASS : Vili SUBJECT — INFORMATION AND COMMUNICATION  Max. Marks : 50
TECHNOLOGY
Multiple Choice Questions: (1x10=10)

1. Which of the following attributes of the <MARQUEE> tag is used to specify the speed of
the moving text of image?

a. DIRECTION b.BEHAVIOUR c. SCROLLAMOUNT d. None of these
2. Which of the following attributes is used in internal linking?
a. NAME b. HREF c.Bothaandb d. None of these
3. The technique of watching the person while talking to him is called ...........
a. Video conferencing b. E-mail c.Bothaandb d. E-banking
4. Which of the following is not a communication service of internet?
a. Chat b. Google Drive c.E-mail - d.VOIP
5. Which of the following conditional statements is used to test multiple conditions?
a. if b. if...else c. if...elif....else d. All of these

6. Which of the following is not the conditional statement in Python?
a. Ifstatement b. if...else statement c. if...elif....else statement d. None of these
7. Which one of these is a type of social media?

a. Facebook  b.Slides c. YouTube d. Sheets
8. Which one of the following is not found in Google Apps?
a. Slides b. YouTube c. Facebook d. None of these
9. Which of these are widely used in manufacturing industries such as automotive?
a. Industrial Robots b. Emotional Robots  c. Science Robots  d. Androids
i1 M E— are platform dependent.
a. Native Apps b. Web Apps c. Hybrid Apps d. None of these
Fill in the Blanks: | (1x5=5)
1. s is an operating system for mobile devices developed by Google.
2. e became the first computer program to defeat a world champion in a chess match.
B T | - R— icon generate a link of your document for sharing and giving access.
4. The range() function is a/an ............... function of python
D rerceereeeeenenens is a conversion that takes place in a friendly atmosphere.
Write ‘T’ for true and ‘F’ for False (1x5=5)
1. PNG image file format stands for portable Ink Group.
2. We can use do-while loop in python.
3. Industrial robots are programmed using computers.
4. Web apps require hand-held devices for installation.
5. No one keeps a check on the comments of participants on newsgroup.
Long answer questions:
1. Define frames. (2)
2. Is use of social networking services advisable for students? Why or why not? (2)
3. Define Google Drive. (2)
4. Whatis Al? (2)
5. Write one line HTML code to create a hyperlink with the text ‘Display’ which opens the
Display.html web page when clicked. (3)
6. What is the difference between hacking and cracking. (3)
7. What do you mean by Gmail? ' (3)
8. Define mechatronics. (3)
9. Write a python program to convert centimeters to inches. Hint 1 inch=2.54 cms (5)
10. Briefly explain any three categories of apps with examples. (5)
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